Choose correct answers
sflurer aflenLemw Csib6lgHs.

(1) WCB system, the maximum magnitude of the measurement
may be 360° and measurement is taken anticlockwise

WCB papled sar@lyssiubhn sidsuls GCsranm erey 360°
Y@GL  LHND  Sereihsmer  suETT  HogdsE sl Hevguile

T(h&&LIL(HILD

(2) QB system, the maximum magnitude of the measurement may
be 90° and measurement is taken clockwise only

QB wpeopWe sarhl@ysstiubn sdsul s Carar setey 90° @b
LHHID eraihisamer SiqasTy Havsuller I HCL erEELILEID

(3) Both WCB and QB system, the minimum magnitude of
measurement is 0°

WCB wpmgid QB @rear® weonlaihd sar®liyssiu@n GonbsuL g
Carewr jera] 0°

(A) (3) only (B) (2) and (3)
(3) LW (2) wpm (3)

(C) (1) and (2) (D) (1) and (3)
(1) wpmd (2) (1) wpmd (3)

(E) Answer not known
alenL Gsflwalcrenaw

In which of the following compass graduations are engraved erect?
eThg Smbuedled GMESLILLL er(psgiser Crrms Cagssiul iquilme@§Ln ?

(A) Prismatic compass (B) Surveyor’s compass
9feGl14é Smbuey grGeuulmey SmLbLIe

(C) Theodolite (D) Sextant
HCwrGLrenevl- Qesgem_

(E) Answer not known
en Ggflwueidane
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3.  When the lines form a circuit which ends at the starting point is

called

#Ceu Carhsear < rbliss @LsHCatw wura|dnrd ASHG

TTMELP&ESLILI(H S mg

(A) Open traverse
Wpgeleer Lyreuime

(C) Intermediate traverse

@erL LUl L L JTeure

(E) Answer not known
e Gsflwalcrena

(B) Closed traverse
QPlye|Dm Lrmemen

(D) Both (A) and (B)
(A) wpmid (B)

4. The reading is taken by directly seeing through the top of the glass

1s done 1n

UMis@GL  SAedwlde 2 der UL sSdHen 2 56T HaTeHeT 6Ihg UM

smbualled LigdsliLi(pidmg) 2

(A) Prismatic compass
9fevGLoL g & SmbLeL

(C) Trough compass
L_Jooll &HMLDLIGD

(E) Answer not known
clenL Gsflwalcrena

(B) Surveyor’s compass
grGeuwlmey &mLbLie

(D) Both (A) and (B)
(A) wpmid (B)

5. The graduations engraved are inverted in
hg sTbualld ere] GHUELLULL er(PSSHIEEHT Sadprs (FgsEsuLl

AICEIC

(A) Prismatic compass
9fevGLoL1g & STbLeL

(C) Trough compass
L ool &MLDLIGV

(E) Answer not known
slenL Gsflwalerena
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(B) Surveyor’s compass
&rGeuwme &mibLie

(D) Both (A) and (B)
(A) wpmid (B)



In surveyor compass the magnetic needle floats freely over the
giGeuwir smbuelldy ——  15g &1HE 2ad FLCugd @eemoed
Hgsng)
(A) Prism

Gfl&n
(B) Graduated ring

S|ETEYSHET GDISHLILIL L GUEETWILD

(C) Tripod
lq @M
(D) Pivot
FLPQID H&FSH

(E) Answer not known
allenL Gsflwalerenay

The dimension families are specified as
Sjerai(psaiien @Hbunsarts @GiluELtu®eug) ?

(1) Radial

(2) Angular

(3) Linear

(4) Polyline

@A) 1), 2),® B) 1), 2), (3)
©) @,03),® D) 1), 3), 4)

(E) Answer not known
alenL Gsflwalerena
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8.  Which method is used for plotting a traverse survey in compass?
smbuedled Lyreuien #TGeu erhg (pevm epedd GewiuBEmg) ?

(A) Included angle method
o ' Camemt (Lpewm

(B) Paper protractor method
s1éls ABBSGSD P

(C) Rectangle coordinate method
Cecuous mmSmaiiL] (pevm

(D) Graphical adjustment method
cuamrEmed FMbFUsE (e

(E) Answer not known
slenL Gsflwalerenay

9.  Which of the following variations are due to magnetic storms?
ThS euens smiieilen wIHLTH &THS LjWe&erTed FhHuBH&ng)?

(A) Diurnal variation (B) Annual variation
Sarafl wrmum@ cumLTBE T wrmum

(C) Secular variation (D) Irregular variation
gmirudm rmiumh o wrmium)

(E) Answer not known
enL Ggflwueidane

10. Find the magnetic declination if the magnetic bearing of the sun at
noon is 186°

paruseder (noon) @flwafler Cu&Cangs Awfm <yarg 186° <ys @ @mbSTO
9igen Costarys 1gslaflCaranener e (b Alg&se| b

A) 6°W (B) 6°E
(C) 16°S D) 16° W

(E) Answer not known
cllenL Gsflwalcrena

387 — Surveyor 6



11.

Which stations are affected by local attraction?
Epasramibd erhg vCLagaledr Camssd mliysarmed LTSHliLemLbgieTeng) ?
Sl No. Line

al. arawr. Gam(p)

(a)

(b)

(©)

(d)

(A)

(©)

(E)

AB
AB
BC
BC
CD
CD
DA

DA
(a) and (b)
(8) wpmid (b)
(c) and (d)
(©) whgib (d)

FB

FB

N 46° E

N 46° E

S 60° 30' E
S 60° 30' E
S10°30'E
S10°30'E
N 79° W
N 79° W

Answer not known
e Gsflwalcrenaw

BB
BB
S 46° W
S 46° W
N 61°30' W
N 61°30' W
N9°W
N9°W
S 79°30'E
S 79° 30' E
(B) (b) and (c)
(b) wpmid ()
(D) (d) and (a)
(d) wpmid> (2)
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12. The more accurate method of plotting a compass survey
smbuev FrGeuemw UL heughsrer Wga b gdadlwbmer wpenm

(A) Parallel meridian method
@ ememrwiner Glwifliguie (pevm

(B) Included angle method
@en@EpL Cameant (pepm

(C) Paper protractor method
s1dlg LQrmigréLrT (wpev

(D) Rectangular co-ordinate method
Cscueuss emmISameariiL] (pen

(E) Answer not known
slenL Gsflwalerenay

13. Identify the local attraction source compass survey
smbuev FrGeu—uller Cmdasd L TTEaUESEEHTET STTERThRISM 6T Hevr(Hh Ll

(A) Building (B) Iron lamp post
SligL LD @ b 6lleTd@ SbLLD
(C) 'Tree (D) Plastic
LOTLD GaTmevig &

(E) Answer not known
enL Qg flwueidane

14. Convert Q.B into W.C.B. N 20° W
Q.B 8@pz W.C.B. vrpmis N 20° W

A) 70° (B) 340°
() 160° (D) 20°

(E) Answer not known
en Ggflwueieane

387 — Surveyor 8



15.

16.

17.

If the fore bearing of a line is S 43° 30' E, its back bearing will be
@ Camigear weanwin S 43° 30" E eafler wigern Gandwfm
NGNS

(A) N43°30'W (B) N 43°30'E

(C) S43°30'W (D) N 36° 30' W

(E) Answer not known
clenL Gsflwalcrena

Fore bearing of line ‘AB’ is 60° and that of BC is 130°, then angle B
1s

AB wogir BC Ger@psafer werarmey Guflm 60° womid 130° ereflée ‘B’
Camenr 66y

(A)  50° (B) 110°
(C©) 190° (D) 240°

(E) Answer not known
en Qg fwueieeane

Convert whole circle bearing of 210°30' into reduced bearing
e Quifli 210°30" — eow Qycwev Gwfli eps wrHms 2

(A) S30°30'E (B) S 30°30'W
(C) N 30°30'W (D) N 30° 30' E

(E) Answer not known
en Qg fwaeiceane
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18. In quadrantal bearing system, bearing of a line varies from
asmed aul_L Guili peppufled, Culim jerey ereueuerey wMMILIHS DG ?

(A)  0° to 360° (B) 0°to 180°
0° s 360° 0° s 180°
(C) 0°to 90° (D) 0° N to 190° S
0° apse 90° 0° N s 190° S

(E) Answer not known
adlenL Gsflwalerenay

19. Write the bearing of line AB and line CD
AB womib CD Carpsefler CuwuMiiems sa@r( g &seyh

B
74° 30'
@ A @) -
39° 45'
D

(A) 219° 45' and 285° 30' (B) 285° 30" and 219° 45'

219° 45' wppib> 285° 30 285° 30' wppib 219° 45'
(C) 285°30' and 129° 45' (D) 129° 45' and 285° 30'

285° 30' wppib 129° 45' 129° 45' oppi> 285° 30"

(E) Answer not known
alenL Gsflwalerenay
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20.

21.

22.

If the fore bearing of a line AB is 35° and that of line BC is 15°, then
the included angle between the line is

AB & BC Gsnpsefler wararme Cufln 35° womid 15° <@, AB whmib
BC Garpsafier o 1 Cameanr serency semhH 91 &&6Lb ?

(A)
(©)
(E)

20° (B) 50°
160° (D) 230°

Answer not known
alenL Gsflwalcrena

Instrument required for levelling is
UL Sjerdsams LFteusne Coeneuwimear &(mel

(A)

(©)

(E)

Tacheometer (B) Theodolite
CLsHCumbr i HCwm_evevl

Plane table (D) A level instruments
ST SETEMBL LIS UL eTéamsd &(hedl

Answer not known
en Ggflwueiceane

Profile levelling is usually done for determining
HOgrenied Gleveuediml (L&sGCaTHD UL HaTdEems) rehaTs LwerUOHSHng ?

(A)

(B)

(©)

D)

()

Contours of an area
@ L@dluller g 2 wrs Carligamar sar(b L9y ss

Capacity of a reservoir

@it Br&Casasder Camdrarere, &mewr
Boundaries of a property

@ Qansdler ereanaenwis smemt

Elevation along a straight line
Crir Cam_(Hil umrengudled L L o Wy Sremr

Answer not known
alenL Gsflwalerena
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23. What is the smallest graduated division in levelling staff?
L L ersansds Camelled Wass APl erells 9fey

(A) 0.5m (B) 0.05 m
0.5 Srr 0.05 S
(C) 0.005m (D) 0.0005 m
0.005 Scr 0.0005 B

(E) Answer not known
alenL Gsflwalerena

24. In Rise and Fall method, the staff reading is greater the point is at

2 WIfe| OHMID TP wpedD SamdSl g VL Tl—6T (UL SeTs&masCaradle)

THSS SeTey 2 WFons @ (HbsTed bs Bl Leaell ——————— @5 @ m&E@H0
(A) Rise (B) Fall

o _WIM6Y STHa|
(C) Equal (D) Identical

FLoLD Cr

(E) Answer not known
e Gsflwaicrena
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25.

26.

In the case of levelling across a river or lake, the levelling used
@m BS (Soeg) gilllar @nsCs ehs Goeudin (DL eTdams)
LweTU(HSSUILBE DG ?
(A) Reciprocal levelling
QrafliGrrésd Ceweialn (erdlflen LI L arsems)

(B) Tly levelling

solianer Geveuadim (efeyel L L SieT&ans)

(C) Check levelling
sanflsamna (6leeuedl

(D) Simple levelling
erafllu Geveuadimi

(E) Answer not known
e Qsflwalcrena

Back sight and fore sight readings are taken at every set up of

level 1s
e6uleumm Gleveuedii eI (UL SjeTdHams Senblilaib) erumiae
LHMID wperTTenet Sereihiser L HICW erhidEh Coeued (L L aT&Ems)

(A) Check Levelling

Oes Qeveuelim (SanilGans L L eT&EmS)
(B) Fly Levelling

Soldaner Geveuedn (elerey LI L 6eT&Hs)
(C) Simple Levelling

96T Qeveuadny (ereflw WL L <6eTSHens)

(D) Differential Levelling

Coumum’ () Geveuadi (Caumurt_(h WL L SeTdHms)

(E) Answer not known
clenL Gsflwalcrenaw
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27.

28.

What is the shape of contour lines in case of a valley?
Q@ LeTanssrsdlenar @&M&@h srar (G Carhsailen aligalld ererer?

(A)

(©)

(E)

@Cr

(A)

(©)

(E)

U shape (B) V shape
W 6UlgeIlDd 6l Gulg G
W shape (D) O shape
L9leTyy, euigeuld @ GllqgaULd

Answer not known
e Qsflwalcrena

are imaginary lines joining the points of the same height.

o Lrsang oeLw Ldaflgamer @Qaans@  spumers  GCsmilighE
ereorm L.

Contour Lines (B) Relief Lines

sretl_Br Camph&er MeSL1 Garpser

Survey Lines (D) Grid Lines

&Gou Campser SN Campser

Answer not known
enL Qg flwueidane
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29. Which of the following are correct about the methods of contouring

30.

by spot levels (Indirect Methods)?

EpsaaTcupmIET eTaneu evUM. Gleeid (LEDAPE (LPedD) PG Smerl (i
cuaTLINISSILGLL (Wapsefled Fflwmaraneu ?

(1) By Squares
gy (penm
(11) By Cross Section
dlyrev CFsser (wpeanm
(111) By Tacheometric
QL&CaETGbLLMS (pev
(A) (@) only
(1) wr_HGw
(C) (1) and (111) only
(11) wHmb (111) w HCwW
(E) Answer not known
en Ggfwuaeidane

(B) (1) and (11) only

(1) womd (11) w HGW
(D) ), (1), (111) only

(1), (a1), (111) wLCECwW

If the lower value of contours are inside the bent or loop, it represent
@b Wwllumear srerl (BT, euamearallenr g eueneTe F SHDMler 2 L Limib

QBHSTD, Semen GHILG G

(A) Valley Line
LIGTOTSS TS (S,

(C) Saddles

EneS &6 (b

(E) Answer not known
allenL Gsflwalerenay

15

(B) Ridge
LDENEL (LPS (h)
(D) Plane Area

SLenL_uImer Lyl
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31. The vertical distance between two consecutive contours is called as
@rar® bHSsHSSHETeT ST (Bisailar @ Cw o dter GEmi@Esg 2 wiyb

(A)

(©)

()

ererLiL (hiLb.
Contouring (B) Contour Line
SesrL_ (Bl srer_ BT Camh)
Contour Interval (D) Horizontal Equivalent
ST (BT @ Cleuer] lenLol L Hla

Answer not known
allenL Gsflwalerenay

32. Two contours of different elevation do not cross each other except in
the case of

sailigg @uaw@h srerl BT QeucuGeum 2 wrsded qerenn eeTm

GSN&EH @evamod CFaoai.

(A)
(B)

(©)

D)

()

Saddle

LOENeS &6 (h

Valley

LTSS TS (S,

Overhanging Cliff

o Capnidln Seailtiey (QgmhiEh Wws®)
Vertical Chaff

Qem@sg dedlliev (WP&H)

Answer not known
enL Qg flwueidane
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33. Volume of earthwork is calculated by

e Coueneuiler sar jere] —————— 60 eSS LILIHE D).

(A) Trapezoidal Formula (B) Prismoidal Formula
L Qrindemire @&sslrb Uflevmiled @S Slrb

(C) Both (A) and (B) (D) Chezy’s Formula
(A) wpmid (B) @reaw@ibd Qgeved) @SS b

(E) Answer not known
alenL Gsflwalcrena

34. Prismoidal rule is also known as

Uiflevmied afldl ————— erermid anp&siiuEHng.

(A) Simpson’s Rule (B) Trapezoidal Rule
Slibgafen 6l CQridemire algl

(C) Curvature Rule (D) Eulers Rule
cuenere] gl S uieifler 6l

(E) Answer not known
allenL Gsflwalerenaw
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35. Trapezoidal formula for calculating storage capacity of a reservoir is
@i PisCsss Callliy Carardpaysarer 4 Qrulsnird el (sflous ahd)

A Ver AT A A A
Veb AT A A A
(B) V:%[Al+An+4(A2+A4+...)+2(A1+A3+...)]
h

1% =§[A1 + A, +4(Ay+ Ay . )+2A + Ay + )]

(C) A=dh +hy+..h,)
A=d(h, +hy+..h,)

(D) A =Average ordinate x Length of base
A = gyrefl g Can’ X g ssersden Herid

(E) Answer not known
allenL Gsflwalerena
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36. Which among following can be determined by contours?

37.

ST BT epeLdTs SPESETLeUuDDIET eraneuGuIded STl Pl (Lpigu|h ?

(1) Drainage characteristic
QUG &TE) LIGHTL|&ET

(2) Gradient

FTUI6Y
(3) Ground profile
Seniy eleuryd
(A) (1) only (B) (1) and (2) only
(1) @b (1) wHmd (2) wL[Hb
(C) (1) and (3) only (D) (1), (2) and (3) only
(1) wpmid (3) G (1), (2) wpmid (3) LLEW

(E) Answer not known
slenL Gsflwalcrena

Which among the following are the uses of contour maps?
EPSGHETLeUDMIET cTeneu SmeTl (BT GUENTLIL BISET 6T LGS 6T TG G ?

(1) To check the intervisibility of points
@ QLsErsdaCuuwrer Leorium® lw

(11) To Locate watershed lines
B GG g e SesrHlw

(111) To calculate volumes of reservoirs
Br&Cassmisaier Camdrarere, &mewr

(A) (@) only (B) (i1) only
(1) L@ (11) wr_(Hib
(C) (11) and (i11) only (D) (@), (1) and (i11) only
(11) wpmb (1i1) wi b (1), (1) womib (111) wIEIb

(E) Answer not known
e Qsflwalcrena
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38. A line lying on the surface of the ground with uniform inclination to
the horizontal at all points on it is
9genr  Gogiedrer marsg eraflsafligib, s Gariphrer @Cr Symear
gfleyLer genyliLrlilie e Camnerg

(A) Vertical Contour (B) Horizontal Contour
Oembi@&sg srer(Br SevL_ol L amesr_ B

(C) Contour Gradient (D) Plane Area
aret_Bm #fley SL_ENL_UITET SeLD

(E) Answer not known
alenL Gsflwaicrena

39. For the purpose of surveying in a general topographical work with
the scale of 1 cm = 100 m or more suitable contour interval is
1 cm = 100 Sccim sdog isH@&b Ced erern 6o s S LSFIL e e
Qumrgeurenr Hlo o pellwe grrpgs Uamils@l Aurmgswrear Foe wré Casmi ()
(smer_(Bm) @evL_Geuafl

(A) 0.2t00.5 (B) 0.5to 2
0.2 s 0.5 S cuenty 0.5 s 2 5 cuenty
(C) 20to 30 (D) 3 m and above
20 s 30 S auanty 3 B whmd shHE G

(E) Answer not known
allenL Gsflwalerenay
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40. The contour interval for general topographical map can be computed

41.

by the following rule
@@ Qurgeurer BleoliurliL cueruLsdharar srear B e Geuel Spssamr
lsaileruilg samss LB D).

(A) 25 m (B) 45 m
Number of cm per km Number of cm per km
25 ) 45 )
BUT QU1 QF.B5/8.15 BOLT U1 QF.B/8.105
©) 50 m D) 55 m
Number of cm per km Number of cm per km
50 8 55 8
BOLT U1 QE./8.105 BOLT 1 Q&.5/8..08

(E) Answer not known
alenL Gsflwalcrena

Which is the main parameter used in pseudo-ranging of GPS?
GPS-ér Guredlg Qsrevea) sramedler LLGTLHSSILOD WPESHW SaTeym 6rg) 2

(A) Time (B) Distance
Criib S

(C) Velocity (D) Frequency
Causld 915 6l 6w agor

(E) Answer not known
enL Ggflwueideane
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42. Which signal indicate the functioning of the space segment in GPS?
sol.19.ere eflarGleuais Mlafler LweTUT L& GNEGSD GDHans ?

(A) Navigation (B) Space
Ul QFsgiens &l erGeu el
(C) Control (D) User
I (O [ O LIWIGOTIT

(E) Answer not known
e Qsflwalcrena

43. Which country developed the GPS?
shl.19.eTev-g3 2 (HeumsEw B 6rg) ?

A) USA
W.6Tev.6r (&) 2HCwMés ps&dlwu priser
(B) India
Qplwr
(C) Russia
TG T
(D) Europe

wCrmi (=) Grmium

(E) Answer not known
enL Ggflwueidane
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44. Which i1s the most obvious sources of electromagnetic radiation for
remote sensing?
Qzrere 2 anrrelsmar Wsa|b GeueafllileLwner Weasrhs &sHliTeiss epeLd

45.

T8 ?
(A)

(©)

(1)

The moon (B) The earth
Hlevay Ly L6

The sun (D) The sea
& Mwieir FL_GD
Answer not known

alenL Gsflwaicrena

Arrange in sequential order of the following basic processes of
remote sensing.
Qzrene 2 anriiaflen Spsseam gLl Geudurhsmer cuflesiiLbhsdhs.

1.

(A)
©)
()

Transmission of energy from the source towards earth.
epdHed g Lbleow Crrésdlu @,mned HLgsd.
Interaction of energy with the earth’s surface.

HeSludler Lyl e <y mmedler @enL cllenen.

Detection of the reflected/emitted energy by the sensor.

dlyreflssiL L @eeg 2 Wlprinl L. yhoalamar o ewrilufler epaLd
ST HSD.

Reflection from the earth’s surface to remote sensors.
Hefludler Lp9edmpg Qgreane o arils@nss@, ardldymaisse.
Conversion of energy received into electronic form of data.
QuPLILIL L Hpene LileTaraml 6l 6w STCUSETNS LOTDHMISHED.
1,2,3,4,5 B) 1,2,4,3,5

1,4,3,2,5 (D) 1,4,2,3,5

Answer not known

alenL Gsflwalerena
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46. The aerial photograph made with the camera axis (or) optical axis
coinciding with the direction of gravity is known as
aflliLLs  smeluler oFs Sbeg @alullud FsFTerg  LelrFTLILg
Sevguer eardlu  Hlevewuler TOESLILGHL  eumeT eeflluLD @ eueurm

SMPEELILHSDS) ?

(A) the oblique photograph (B) the vertical photograph
gmuLGsment eaflliLiLLD Qemi@sg Hleve eaflliLiLib

(C) the stereo photograph (D) the tilted photograph
puuforenr eeflliuLLb gmlieyblene epefliiLiL b

(E) Answer not known
enL Ggfwuaeieeane

47. The line drawn on a aerial photogrammetric map to represent the
track of the aircraft is known as
UTe&HL LUTengemwsd @GOG eumer el Bl jerdeans oLl e
auerTwiLBb Car@h @eucurm SenpssliLihiEng ?

(A) the focal line (B) the flight line
Galws Gamp anansed GCam(p)

(C) the nadir line (D) the exposure line
smpLierais Cam( gt GouaflliLmhis Cam

(E) Answer not known
allenL Gsflwalerenay
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48. Photogrammetric imaging is a method of recording a X dimensional

49.

view of a Y dimensional object scene. Where, X and Y are
galliuL Hleo eréms Cosrhmimeurssonag @ _Y  uflorar Qummefler
s dlemer @ X uflwrars Csmppsded Ldey Qelbd @@ PEDWTELD.
@i, X wppib Y ag)
(A) Three and two respectively
pepGu epern HHID QIaTH @D
(B) Two and three respectively
pepGu Gram® OHDID LPETD @D
(C) Two and two respectively
aopGw Gra® whmb Grarh <G
(D) Three and three respectively
peonGW ApETn HMID EPETD A ED
(E) Answer not known
clenL Gsflwalcrena

Which act as a medium of transmitting information from the target
to the remote sensing sensors?

@osdledl(ppg Csmane 2 e 2 aTlsEhsE SHEUDEMETS GLSFID 26IL_HLOTS
QeweuBheug ergl?

(A) Atmosphere (B) Energy source
cuafloer_evid HOE eLPELD

(C) Wind (D) GPS signal
STHm) shl.19.erev (& MHlans

(E) Answer not known
e Qsflwalcrena
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50.

51.

Spectral responses measured by remote sensors over various
features is referred to as

LGeumy (Lelllwed) smmseflen g Csmwe o arfsearmed erellLLiLIHID
SHOLOTMO FlORIGOSET @eueurm @GOUELLiLhi&ng.

(A)

(©)

()

Spectral windows (B) Spectral signatures
D LDTEEVEF FTETII IS ET D@OLTME FMLIL|GET
Spectral reflectance (D) Spectral emittance
S eTdGlymertl LT Smrene 2 OILPSmeir

Answer not known
alenL Gsflwaicrena

GPS satellites broad cast signals from space that are picked up and
identified by GPS receivers. Each GPS receivers that provides
sil.9.erev  Cewpenss Camerser  olamentadmbg — Heardasmer gl erev
M&euiasedr QupesH&L, SiPeushH@Gb eefluriiydpg. eaiGourm .19.6rev
N&euraEnd @smans CETHEEDG.

(A)
(B)

(©)

D)

(E)

Latitude and Longitude only
e cueny wHmID CGpHeuey L (HLb

Latitude and Altitude only
dlenLeueny wHmIb 2 Wiy L (HLD

Latitude, Longitude and altitude only
flenLcueny, GpHeueny wHmId 2wy Wi (HIb
Latitude, Longitude and altitude plus time
fenLcueny, GpGHeueny, 2 wyb wHmid Corn

Answer not known
e Qsflwalcrena
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52.

53.

Which of the following are advantages of GPS?

Epsaem_euhmier o).l 9.6Te — 6T BETENLDEET ETENG ?

(1) It is affected by rain, wind or reduced sunlight
@sg e, STOMID WLHMID Gmpeurer Ghwu Ceeflésd <Hucupmred
urdlssliLbhS gl

(11) It provides accurate 3-dimensional positioning information for
natural and artificial features
@g @upers wHnb CFupmss gamurhsefler geelwwmear wLiLiflomewr
QLS ssaudsmars (srThEHng

(111) Its position information for natural and artificial features serves
as a prime input to GIS
@Qupens wHmID CQeupenss sFpurhseier @Qsar QLS SHEULSET
8fl.80.6Ta-&@& @ (PSHW 2 araf(h @b

(A) (1) and (i1) only (B) (11) and (ii1) only

(1) wHomd (11) wL G (11) womid (111) wi Hb
(C) (1) and (i11) only (D) (11) only

(1) wHob (111) L I (11) wr (b

(E) Answer not known
alenL Gsflwalerena

Which works on the principle of the measurement of distance
between the receiver and the satellite?

a8  Smearmdlsgh Odsupmss CameEps@h @aLCuwurer gmsoms
SjerellHid Cami_umiger gl uied QFwdu@Bdng ?

(A) Theodolite (B) Digital Theodolite
SHCwm_emeL el L eb SCuim_enevl_
(C) Total station (D) GPS
CLmiLed evCLager sbl.19. ereiv

(E) Answer not known
alenL Gsflwalcrena
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54. Who operates control segment of GPS?
GPS -ér sL_Quur @ WNemer @ud@eug wri?

(A) US military (B) Russian military
S|Qf&s Framieud JeigW [FTEmI6LD

(C) Indian military (D) United Nations
@BbSHw rramied 05$WL BT s6r

(E) Answer not known
alenL Gsflwalerena

55. Which object launched specifically to orbit the earth for GPS?
shl.19.erev-ed Ylevwd smbleur ereutiul L QummeT erg) ?

(A) Satellites (B) Receivers
CQewnHens&ECameTsar VU MR 6T

(C) User segments (D) Control units
vwert 9feygser SLOUUM(H S&HS6T

(E) Answer not known
e Qsflwalcrena
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56. Which instrument is a combination of EDM, electronic theodolite
and microprocessor?

EDM, eesigrels HCumieel wombd ews&Crm Gyrest <ydweubbler
Fnl (D& Hmell erg) ?

(A) Total station (B) Tacheometer
CumL e evCrager CLaCGam 5L

(C) Distomite (D) Tellurometer
lg6vGLTenLoL Qe GrmibiL i

(E) Answer not known
alenL Gsflwalerena

57. What is EDM meant for?

EDM eremuiges <iiigsd erese ?

(A) Electronic Data Measurement
cTsLymails G GweagT6lemr

(B) Electronic Distance Measurement
s rrefld igevLemen ClaumbletT

(C) Electronic Digital Measurement
erdLmens 1qedll L6 Gagrelnetr

(D) Electronic Data Meter
erevdL_gmends GLrm SU L

(E) Answer not known
slenL Gsflwalerena
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58. Which measurement can be able to read electronically in manual

total station?
aspen CLm Lo wCLogyald obgs emeilh Weraram eugeilld WL HCH

LIg && (LPlgULD ?

(A) Horizontal angle (B) Vertical angle
lenLol L& Camenrid OQemi@&s5gs CamenTd

(C) Slope distance (D) Co-ordinates
gmlie Qgmanee] <2} W MBI & EIT

(E) Answer not known
alenL Gsflwaicrena

59. Which of the following measurements can be taken by total station?
EpsasarL eraihsaiidr CLm L6 cvCLagarmed r(H&ES (PlpLIEe eTenG. ?
(I) Angular measurements
Carenr =66l (h &6

(I) Linear measurements
B8 oerei(pEer (HrLeveray)

(III) Elevation measurements
UL eTel (h&eT

(A) (@) and (II) only (B) (II) and (III) only

(I) wpmw (II) wrEw (I womdp (III) wr Eib
(C) (@) and (III) only (D) ), (dI) and (III)

(D) womid (III) v Eb (D), (I) womb (IITI)

(E) Answer not known
allenL Gsflwalerena
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60. What is the most precise instrument designed for the measurement

61.

of horizontal and vertical angles?
deoLol L wpmib  CeniEsss Coreammseamer  jerell(eughsmear  WO&S
gloadlwirer &mell 6rg) ?

(A) Survey chain (B) Dumpy level
gmGeu Fridled L4 Gevaied

(C) Dagital Theodolite (D) Telescope
el eb SCuim_aneor- QzraneCrrss

(E) Answer not known
alenL Gsflwaicrena

Errors which are not eliminated by repetition method in Theodolite
are
SHCwrLeweliger FHmbu Ceiub wepuie &fl e @uers Ganpser
TG ?
(1) Slip
saum (or) Qenip
(11) Displacement of signal
Fasuiler Hlenew WwTHMD
(111) Vertically of vertical axis
Oem@ss &s amn@Gs5sTs

(A) (1) and (i1) only (B) (1) and (i11) only
(1) wHmd (11) WL b (1) wHmb (111) L EIW
(C) (1) and (i11) only (D) (1), (11) and (i11) only
(11) ooy (111) wr @b (1), (1) womib (1i1) wL @b

(E) Answer not known
alenL Gsflwalcrena
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62.

Which one of the following temporary adjustments of theodolite is
done to eliminate parallax error?

Cemhp wmmurh Geowpew BsgaushHEd HCurCGLrmel e sHETS
sMQslige, SpsaTcuhdled emn i@ ?

(A) Setting up
S| CFuige

(C) Levelling up
DL UU(HSGISH0

(E) Answer not known
alenL Gsflwaicrena

(B) Centering

enWIL(h&GeD

(D) Focussing
&edlenLowid

63. It is the operation to make the vertical axis of the instrument truly

vertical and pass through the station is called as
smadlllenr Oami@gsg sms o amenbwns Ogmn@Gssts wrHol, Blaneuwisder
auflunss Cedeugnarear CFwed @eieumm epssliLBEHng

(A) Setting up
DS

(C) Centering
enwliL(h&seD

(E) Answer not known
e Qsflwalcrena

(B) Levelling up
GQevouadm LUl

(D) Focussing

Cursssn

64. Rotating Telescope in horizontal plane about its vertical axis is

called

el L gearsdledr spaibd Osmene Crrsdlullenr Oem@ss i&s eTeueumm)

SMPESELILHSDS) ?

(A) Swing
gallm

(C) Plunging
ST(PSeL

(E) Answer not known
enL Ggflwuaeieene
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(B) Centering
enwwliL(h&seD

(D) Transiting
Lq- 7T 6bTErS) g



65.

66.

The arc equivalent to angular value 05" for a line of length 100 m is
given by the formula

100 S5 ferd Qamar Camlyparer Csmewr wdiiy 05"—m@ gwwrear el
&SI @eueurm GQarhssiL@EHDG 2
(A) Radius x arc length
&b X afled Herid
(B) Radius x angular value in radian
<7id X Carenr Sl Crigwiefled
(C) (Radius)?x arc length
(<ybd)2 X ofled Herid
(D) Radius/ arc length
<rd / efléd Herid

(E) Answer not known
enL Ggflwueieene

How many methods are used to prolongation of a straight line?
@ CrisCamiger Bliglibn@ assmarn (papaser LiLieBSsLHE D 2

A 4 (B) 3
C) 5 D) 6

(E) Answer not known
adlenL Gsflwalerena
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67. Angle between the preceding line and the succeeding line is called
eermed 2 eter Carligh@h ABQSs Coamlun@b @arCuw o drar Caomewrd

@i ampssiiuOEHng ?
(A) Direct angle

CriréGamenTd

(C) Deflection angle
e Caommentd

(E) Answer not known
allenL Gsflwalerena

(B) Right angle

QgrGamemTd

(D) Rotation angle
Sy Camenrid

68. Angles measured clockwise from a backsight to the previous line are

called as

e o ater Camiiged @BHE STy &HM GerumTaneuuiledd ems @D

Camewtd @eueumn Sempsslithdng ?

(A) Deflection angle
el Camenrid

(C) Direct angles

Crirg Camenid

(E) Answer not known
alenL Gsflwaicrena

(B) Angle of twist
Sl Camewrid

(D) Swing angle

Folln GamewnTd

69.

Which of the following instrument can measure vertical angles with

respect to horizontal line or with respect to zenith?
el Garliel  lueLwrss  Osrar@h — Soeg  Ceveafls
SlqliumLwnss Oararp o wrol L Caramsamns jerds LwWeLBID  smHedl

68l ?

(A) Electronic theodolite
&L yrens SGwm el

(C) Compass

Sanassmiiy

(E) Answer not known
allenL Gsflwalerena
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(B) Levelling
Qe ed

(D) Chain
Qauller



70. The angle between a line and the meridian measured in clockwise
direction usually from the north of the meridian is called
Goilgweas@hd, Casrligh@b QaLCu oder Caravsamns su&Tr &Hm
Heavguilldr emss, UPSGHLTS eIl &E@ Cwfligumer aThsgs CETaEHTL T Do
@eueumn ep&sLiL (b

71.

(A)

(©)

(E)

Included angle (B) Azimuth of the line
2 I CamewTLd Sl psdler Camp
Base angle (D) Deflection of the line
SiglitenL Gameanrid Camiiger cllew&snd

Answer not known
enL Ggfwuaeieeane

Loose needle method is rarely used for fixing direction in theodolite
traversing because
HCur_eel yrrauffli—0 dHosow Ghss qrev Bgd wpeop ANsns

L6 (WSS STTesTLd

(A)
(B)

(©)

D)

(E)

It 1s prone to local attraction

@dled Coorsser L Trégem eFHLL euUmLILIL|ETeTS)

It is not a method of theodolite traversing

@g HCUTLemeL g TTeuTS BI—6T 61 (LPENDH {6V

It 1s not used to determine the bearings of the lines
@ser eped CUimGCsTHa6 GhésLIuBeusdane
Bearings included angles not measured

Cuilmdler @m&@h 2 L Carand eT(hésLiL(hHeudldeane

Answer not known
e Qsflwalcrena
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72. In which of the following traversing no angle measuring instrument
1s employed?
Epsmamid b Smelufler eped rrauTdlm  Camant SjeTe ST HaTHS

Wevmg ?
(A) Compass traversing (B) Chain traversing
SMDLIGY g FTeu TSI CFudle g rmeums m
(C) Total station surveying (D) Theodolite traversing
CmiLed evCLeager FrGeulin SHCwmLemeL igymeuTslms

(E) Answer not known
alenL Gsflwaicrena

73. In a closed theodolite traverse the permissible closing error can be
computed from the formula?

Where,
K —1s the least count of the instrument

n—1s the number of sides of the traverse.

pre|dn  SCuTLmel grTeuTdv-@Qe) D@ILSSSIULL  (pige) e
sETHS LLILIHLD &SI ?

Qi
K — smellen Ssdpmerena

N — 4JTeUe) LISSHBIGET 6 6Terent&Hensd
(A) E=Kn® (B) E=K+n

2.2 _£
(C) E=K?%n (D) E_\/;

(E) Answer not known
e Qsflwalcrena
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4.

75.

A —— 1s a series of connected lines whose lengths and
directions are known?

crarg) GsrLrsdlwuner Cpirs Camiigemmed e ellgeum@h. @Sl
Hlo ereneu Camiiqer Hevsanuiu|b, Berdeansud e Hluiemib.

(A) Horizontal line (B) Traverse
HanLwoL L Cam(h 476U 6V

(C) Vertical line (D) Straight line
Qem@sg Cam CrrGsm(h

(E) Answer not known
e Qsflwalcrena

Angles measured are interior angles if traverse is run in
anticlockwise direction and theoretical sum is equal to,

GTTeUTend, Slg&ry erHlim &Hhled CFwdul () o Coraurhger erssliur L me
9igern Swuriliigssafler Carammsaier sl HE0smans, @His,

where n = no. of sides

n = ussnisaflen cramaniléams

A) (2n-4)x90° B) (2n+4)x90°

(C) (2n—6)x90° D) (2n+6)x90°

(E) Answer not known
enL Ggfwueidane
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76. Which of the following are true about balancing the traverse work,
grreuens eMlsliged Lenluied Spsam . eeneu Ffluimaraneu ?

(1) Angular accuracy is higher than the linear accuracy
Ber ojereiler govedllwgans el Camenr ojeralflen goeadlwb SHswrang

(11) Angular accuracy is lower than the linear accuracy
Ber oereiler goellwugans el Cameant Sjerallen gleadlwbd GampeuTarg

(111) Angular accuracy is not same as the linear accuracy
Ber  jerefler  godlwsamsiGurey  Camewr  ereller  gebedwiid

@ mLLdene
(A) () only (B) (1) and (i1) only
(1) wr b (1) wHmibd (11) wL G
(C) (111) only (D) (111) and (i1) only
(111) wr b (111) woHmd (11) wi Hb

(E) Answer not known
clenL Gsflwalcrena

77. 'The latitude of a line is its projection on to the meridian?
@ Camiger Colllgiqupl’ eTeTLgl &§i(HeUkISEhsE @ eemTITS
AETESLILI(HLD GMTLOMGLD.

(A) North-south (B) East-west
UL&G-05DH& psE-Coh@

(C) North-west (D) East-south
L &@-GLH@ fpss-0sp

(E) Answer not known
enL Ggfwueidane
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78.

79.

Bowdith’s rule 1s also known as,
CQuerig & aflHenws @eueummild Fnmeod ?

(A) Axis method (B) Graphical method
DEH (PEOD CUMTHEM (LPEND

(C) Compass rule (D) Transit rule
sTbUeD (Henssmily) g lgyrerdlLiqer (SLLi) e

(E) Answer not known
e Qsflwalcrena

This 1s an indirect method of levelling in which the difference in
elevation of the points is determined from the observed vertical

angles and the measured distances is known as,

yematlgeflenr 2 wgsdled oerer  Coumiur@h  seuallssiul L Oemki@sg
Camanrigeiics @ mbgib LHMID Seral L gymseflalmbgib Sioreiss,
e p&LNs GEiwiu@n Ceveladn @eieurm SemwpssliLbh&ng ?

(A) Sight levelling

&l Qeveuadml (LMfTfenel L L 6T&EmS)

(B) Fore-sight levelling

Cunir-enal Gleoeuadil ((peTUMTenel L L HaT&ENS)
(C) Trignometric levelling
4 N&Carm@urNé Qeeualm (W&ECaran LI L oeT&ams)

(D) Lateral levelling

Calred Qeveuadml (LSHeUTL_ () L L eTHEMS)

(E) Answer not known
allenL Gsflwalerena
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80. A chord between two successive regular pegs on the curve is called,
Q@@ cumaralled AHS5S5HSs @ramh (Cusev) (WpeneTds@L Slaamer @)anenTd@Wn
Brewtler Berid erese ?

(A)

(©)

()

Long chord (B) Length of curve

BeworL BT cuanareiler Herid

Deflection angle of the curve (D) Normal chord
cuenarailer aflev@ Gamemrid FMSTTEHT [BIT6HT

Answer not known
allenL Gsflwalerena

81. Obstacles to chaining but not ranging
LIS (LPlg bl D16T&HS (PlqWIMTEMmael FHLI(HSSHID S6L SHener

(1)

(2)

(A)

(B)

(©)

(D)

(E)

It is possible to chain round the obstacle calculating method

saLeow  &Hdl  Celeflns  Qelw  @rubd  Qeihedn  SesslL
QUMSUWITET (LPEOD&HET 2 CToTg).

It 1s not possible to chain round the obstacle calculating
methods

saLeow &HPl Ceullein CQsuiw wpigursg) LGS LI
(PdD&ET 2 dTerg).

(1) — 7 method, (2) — 4 method
(1) — 7 weopsar, (2) — 4 wepser
(1) — 8 method, (2) — 5 method
(1) — 8 wevpsar, (2) — 5 wepsar
(1) — 9 method, (2) — 6 method
(1) — 9 wepser, (2) — 6 wenser

(1) — 10 method, (2) — 7 method
(1) — 10 wensar, (2) — 7 weopsar

Answer not known
enL Ggflwuaeieene
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82.

83.

Indian standard recommended

year standard length of

chain kg, degree of accuracy respectively.
@BHu srésl_(Humpb UL s Cguller Herd, erenl, &l
Curerpeuperm Sioreaflsss.

(A)
(©)
()

IS 1482 — 1959 (B) IS 1492 — 1959
IS 1494 — 1959 (D) IS 1496 — 1959

Answer not known
alenL Gsflwalerena

The lines from a circuit which ends at the starting point it is known

as

@@ Uetatlufled Csmimdl e &Hm Wigeuaml b ey 2der Car@Hser

(A)

(B)

(©)

D)

()

eTam MLP&SILHE DS
Open traverse
Aops pLéos (Hnbs g yreie)

Closed traverse
PG UI BL&@G (PLPlq Ul I TTeUTe)

Traversing

BL &SI (1qrmeuislmhi)

Continuous traver
Qam_rESluimer HL S

Answer not known
alenL Gsflwalerena
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84. The index glass in an optical square is

samantmy GemGsramerey smalluid @MUAIL®H SHemenTTiy N3
QuT@mSSILL(H @) (HEGLD.
(A) Wholly brass (B) Wholly rays
WPpeugIDd L9Gsemer WPpeugid sdlieiss
(C) Wholly silvered (D) Wholly unsilvered
WPpeugId Slevaeur WPeugIb Slevalm @eensg

(E) Answer not known
e Qsflwalcrena

85. The principle of chain surveying is to divide the area is
Qauller grGouufle epad eTenel GamsdlL Epssameupdled erg Hnbss) ?

(A) Trapezium (B) Rectangle
sFileussid O&F6ieusDd

(C) Parallelogram (D) Triangulation
@ eensrLD Wp&5Caremraliluicd

(E) Answer not known
alenL Gsflwalerena

387 — Surveyor 42



86. Match the correct statement :

QumTmSHS :
(a) Survey station 1.

gTGeu evCLager

(b) Base line 2.
SigliLeLd Cam()

(¢) Check line 3.
gflurrg@n GCam
(d) Tie line 4.

GUWEIGREEINC

@ (b (© (@
A4 1 3 2
@1 4 2
© 3 4 2
M2 4 1

(E) Answer not known
cllen Qg fwaidenen

LW = W

A line joining two subsidiary station
combined

gCaeabd @\ Learaflsamer @Qeanansgl
Sjereysaner 2 mid FliSpg

To check the accuracy of the frame work
Wp&Caramsdlen glodlwsams Filumisseb

2 61 aflugmisemeT @GN&ESED 2 Fe gl

End of the line which command the
boundary of the survey

#mCGeu Hlevoowid Flewgdlerm shm erebane
CICRIETTNGEIGT

A line which 1s generally longest of all
the survey lines

grCGeouullen (pp Sl CauameasEnd @hs
Carh epeld g Lnswrs WARssLUBS DG
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87. Planimeter is used for measuring
GermefbSr it twetu(psH sarsdlHeuded SpssarL sflwnang erg ?

(A) Length (B) Breadth
Berid SIFHELD

(C) Area (D) Volume
UTLLI6TEY SR S0

(E) Answer not known
e Qsflwalcrena

88. Generally an area is treated as plane less than
Yenarerr  #1CGeu  QavieushE CQurgieuns SPEFETL  G@ODHSULEF  6Tey

sy &siL(Hdng)

(A) 240 Sq. Km (B) 260 Sq. Km
240 sgyy. S5 260 ggy. &S

(C) 270 Sq. Km (D) 280 Sq. Km
270 sgyy. SIS 280 &gy. SIS

(E) Answer not known
enL Ggflwueidane
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89. Pickup the not correct statement from the following Surveyor Work.
g BHlo Sereneuwmeriler Geumer @deme eremugen Fflwmer MHsamsHanw
Csite] Cewiwe]b

(A)

(B)

(©)

D)

()

Field measurements
SolIEDIG6D S ETeYSET 6T(HSSHED

Handling of Survey Instruments
FTCol 2 LIGTETBISEET eNaWIT(@hS6

Calculate the Area and Mapping
uglierey wHMID HleveuaruLid QFige

Site Construction
&L _(hwrer Geuenev

Answer not known
alenL Gsflwalerena
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90. Match the following statement

(a) Base Line 1. The line joining these points are
boundaries of the survey
Sigliten Gam) #TGeau Qawiwur Ceuerguw GaFullerGamiq e
W& Ew Lereflser
(b) Check Line 2. The line joining the two tie direction
locate the interior
2 mifl Cam Wp&CamenTsdem (I panaruiledl(mHs
LSS 2 6rer Yeratlenw Camiiug
(¢) Tie Line 3. The longest survey line. It also fix the
all other survey lines.
@aeaeniiy Gsm( iCouldler pdll L  CoumasEprbd @as
QumMMSCs S g
(d) Main Stations 4. A triangle to the any two points on the
two sides of a triangle
(PSETENLD 16N eI mhIgET Wp&CamenTddem Sl LIT&SS6r

@ myeTatiseeruyb 2 FSlepwiujd Gariug

(@ (b (© @
A) 4 2 1 3
(B) 2 4 3 1
©) 1 3 4 2
D) 3 4 2 1

(E) Answer not known
e Qsflwalcrena

91. In chain surveying cumulative source of error is
Qauller #mCauufled el (h Gonss Weny gHubHeus

(A) Fag (B) Lag
ool eraren L6

(C) Rag (D) Sag
&HS60 Qs miiey

(E) Answer not known
alenL Gsflwalcrena
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92.

93.

Write the procedure of folding of CHAIN.

Qsleear wLs&so (folding) Luph Qsafeurs e wef.

(A)

(B)

(©)

D)

(E)

The end of the chain provided with Brass handles in

In front of throw the chain

Qewllenar (perGarmsdl gnédl ermlw Couewr(hiLd

Spread the floor of the chain

Qaullenar ey (Wppeugib LG @enanrss GeuemT(HID

Middle of Tally put the hand left and right the throw and then
counting

CLdleww ewwwiors Ggsg e s Ygss QL asurd Cosrss
Gouar(h b
Chain should be tightly

Qellemear s L s s Ceuar(HLd

Answer not known
cenL Ggfwuaeieeane

Joint.
Qellafler senL& (penar LUssmer cuaneTwid C&meam(h ————— @ anemTLILITED

QuT@mSSILL(H @) (HEHGLD.

(A)

(©)

(E)

Swivel (B) Lap

FLPE earpler Goed eemm)
Grooved (D) Twisting

&eme () CRUEICTEY

Answer not known
alenL Gsflwalcrena
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94. In surveying tacking short offsets can be used

Instrument.
Bloogdld o éter GopHsULEF ML sardsdl UTTemeus@&Hh Cgflubulg o drer
S(Hell ——————— 9.
(A) Boning Rod (B) Towel Rod
Gumeflmi g Laued g
(C) Ranging Rod (D) Straight Rod
Crepdlir g Cwymer g

(E) Answer not known
e Qsflwalcrena

95. If the distance is greater than a chain so method
adopted.
b @ CQeular Sersens oL Hswors @ @HbsTd SpSSTEMID  GTHS

PemeW LWL (HSSEMLD.

(A) Offsetting (B) Chaining
S LICF g B (peD Qelflefi wpenm
(C) Ranging (D) Lining
Crepélnr wpenm eevefln (e

(E) Answer not known
cenL Ggfwuaeieeane
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96. Direct Ranging carried out in following which two method is correct?

97.

Corg Crepéln CQeweudldr SCpujeter gCGsaud @ CQuTmEswTar eflenL e
Coipols0
(A) Ranging pipe, Ranger
Crepdli enuils, Grepai
(B) Indirect Ranger, Step method
wepps Crepsm, Ul penm
(C) Direct Ranging, Line Ranger
sar epeld Crrguins, enever CrEpaT epeod
(D) Base Ranging, Tie Ranging
Slglinen Crepdlm, @mss@ Crepdn

(E) Answer not known
e Qsflwalcrena

In chain survey horizontal distance measured in sloping distance
using direct method another name is

Qeuller  sTGauufled smieumar @ msaller deLwlL  grrsas Corguns
Sjereill Cawiuyd wpevpuller wHGDMEH GlLwIT cresre ?

(A) Horizontal method (B) Reduce method
flepL bl L (pevm GSODSSLILL L IT (LpenD
(C) Stepping method (D) Vertical method
LIy SET (e Qemaigssl pam

(E) Answer not known
cenL Ggfwuaeieeane
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98. The instrument used for setting out an offset at a right angle is

called

SpseaL ahg smedl QemGsran pw&Cameand 90° sewuTs sraveLD.

(A) Open Cross-Staff (B) French Cross-Staff
Sobs Srmev-evLm 9GClyeTEn Sliymen-auLmLl

(C) Adjustable Cross-Staff (D) Optical Square
LGyl 19eT limen-evLmL 2 LIg & GGl

(E) Answer not known
e Qsflwalcrena

99. The limiting length of an offset does not depend upon
@ dHavarGarhLer euamrumssliLl L Berd Supeter idlsams qetenn FMTHS
oTg) ?

(A) Accuracy of the work

Coueneullerr gjevedlwilb

(B) Indefinite features to be surveyed
ST uUMUDHD HHDFRIGET Ul CaFuiw Ceuer(Hib

(C) Method of setting out perpendiculars
QERIGSSTS DHMSGHD (LPED

(D) Scale of plotting
wCaed Sl L sdlem 2ara]

(E) Answer not known
alenL Gsflwalerenay
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100. Select the correct sentence is taking out offset.
fanearsCamhadr rhd@bd wapuld &Eudrer ebg eumsdwbd sflurarsns
AIGEIGT)

101.

(A)

(B)

(©)

D)

(1)

Irregular boundary line, change the direction, centre of circle,
angle difference

Pumrgdn eaome GCasrh, GCsmiger Jeg wrmUTH, Ul L Gdler
evwwiLerefl, Camenr LIMLTEH @eneusEhe@ OLITHHEID

Chain line should be provided as important for offsetting
Qeller eevanar sTrLTE ETeam(H @ més Cousr(H b

In the object is not visible that time taking offsets
Qummefler grrib Qgetleumm grrsHled QmBSTD eT(hdHs Couer(Hib

Entry in field book necessary offsets
Bleo jetene Lsss58e @Ol deanerCam(h CaaneuliLi(hib

Answer not known
clenL Gsflwalcrena

The frame limiting the drawing space, should be executed with
continuous thin line of

UMTHD QL SFE HL(HLULOSIHSO .15 Qgriréflwmer Glwdedlw
Caml_(hLer gwouBss Couem@ib.

(A)

(©)

()

0.2 mm (B) 0.3 mm
0.2 5.8 0.3 9.8
0.5 mm (D) 0.1 mm
0.5 8.8 0.1 9.8

Answer not known
alenL Gsflwaicrena
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102. For pencil layouts and working drawings colour papers are
best suited.
Cuenfled Govjel wHmDd  Geurtdlr wyruin  GureaTmeuHDHE
CUATERTSSTETEHET L& D ClLM(BhSSOTETE.

(A) White (B) Yellow
OleueTenerT LD (@HFGT

(C) Light Green (D) Cream
Qeuafllir LFem& $fb

(E) Answer not known
e Qsflwalcrena

103. The role of a Surveyor is

e, sTGauwMer Couamaser erarLig)
(A) Field work
Seb(H) 6pitds
(B) Office work
Sias Ceuame
(C) Care and adjustments of Instruments
s(mellsamar engwimeteugl wHmid LFTofliiug
(D) All of the above
CoHsam. emarsgIb

(E) Answer not known
en Ggflwuaeieeane
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104. In a field book, booking is commenced at the page is

direction booking.

saT LssssHL St @HluusdT Lsssssler
G&N&SLILEHID

(A)

(B)

(©)

D)

()

Top of page downward direction

Lsasgdler Cod @mbg Sp Crrss

Middle of line any direction entry

Léasdlan ewusambgl eThs LpSSlaid

Bottom of page upward direction

Sl lin@Huledmpg Goer Cpradl @MlEsiiu@mb
Any side entry in upward direction

usssdlen orbs LnsHab Cuod Crréd @msasiiu@mb

Answer not known
alenL Gsflwalerena

105. In folding of sheets, folded drawing to be of
cUeNTUL SreTgHenem WigliLgled @mdluins erbg oere] @) heEs Ceuar(hib ?

(A)

(©)

()

Aq size (B) As size
A1 yeray Az emay
As size (D) Assize
As yemay A4 yemay

Answer not known
alenL Gsflwalcrena
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106. Flat scales are in general use

QUTgIeUTES LIWETUTL 196 2 6Tem SLanlwiner evGaseen

(A)

(B)

(©)

D)

()

15 cm long 1 cm wide (or) 30 cm long 2.5 cm wide
15 Q&8 Serd 1 Q&1 sebd ez 30 Q.8 Berd 2.5 Q.8 sob
15 cm long 1.5 cm wide (or) 30 cm long 3 cm wide
15 Q&5 Serd 1.5 Q&1 gebd ez 30 Q.8 Herd 3 Q.05 sb
15 cm long 2.5 cm wide (or) 30 cm long 4 cm wide
15 Q&5 Berid 2.5 Q.15 Hsebd g 30 Qg8 Barb 4 Qg.05 s

15 cm long 2 cm wide (or) 30 cm long 3.5 cm wide

15 Q&8 Berd 2 Q.8 sebd g 30 Qg8 Bard 3.5 Qg.15 s

Answer not known
allenL Gsflwalerena

107. These are tools used to Transfer and/or to measure the dimensions.
SleTe|gmer @hs &mmedl epod Coum QLS5 Fhssebd dog eredll_ayb
@eaeu LweTLhE DG

(A)

(©)

(E)

Divider (B) Scales

lg- GG LT v Caevev
“T” square (D) Protractor
T" evQamurr LITen&Lome)

Answer not known
enL GgMweidane
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108. An “Ebony edge” of drawing board projects from board is
gomdm  Gurigd  @Qbg  aGurefl el erdueuarey gy Bligs
s e (HeTerg) ?

(A) 2to3mm (B) 3to4 mm

2 N(mpbg 3 L6115 3 AmpHg 4 19..8.
(C) 4tob5mm (D) 5to 6 mm

4 Nwpg 5 LO1.LS. 5 Ampg 6 L8115

(E) Answer not known
e Qsflwalcrena

109. Standard size of T:1 “T" square blades length as per IS : 1360 — 1989
1S

IS : 1360 — 1989 e uig T1 T evQarwuMer 9Carigar eoLmarL i@ Herd

(A) 1500 mm (B) 1000 mm
1500 18.15. 1000 18.18.

(C) 700 mm (D) 500 mm
700 18.15. 500 1.18.

(E) Answer not known
e Qsflwalcrena

110. The angle of straight line
e CrTGsamiger Camemrid

A)  90° (B) 180°
(C) 270° (D) 360°

(E) Answer not known
e Qsflwaicrena
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111. Match the following
Yetreu(meuareLhenm OLIM(HESs.

(a) Acute angle 1. More than 180°
G =) 180° CGuwGa
(b) Obtuse angle 2. 180°
<L wev Carewrid 180°
(c) Straight angle 3. Angle between 90° and 180°
Crymer Gamentid 90° wpmid 180° @enL i L Gamewtid
(d) Reflex angle 4. Less than 90°
MG mamnrid 90° &G

@ (b © @
A 4 2 3
B 4 3 2
© 2 3 1
M 1 4 2

(E) Answer not known
cllenL Gsflwaicrene

LW = ==

112. Following line is not an element of dimensioning
Yeraumd Car@psailed eerm enL_Gensafllin gam ice

(A) Extension line (B) Hidden line
Bligtiy Casm el Lar Gam(p)

(C) Dimension line (D) Leader line
aL_Querdlwesr Gam( it Gam(p

(E) Answer not known
e Qsflwalcrena
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113.

114.

Find the number of equal parts MSD(n)
If one MSD =2 mm
Least Count = 0.25 mm

MSD(n) s unstisefler eraraismaamuis sl Muia|ib.
e MSD = 2 18..8.
edevl sajer = 0.25 1A.15.

(A) 12 parts (B) 10 parts
12 urshiser 10 ursriser
(C) 8 parts (D) 6 parts
8 urskis6T 0 LUTSRISET

(E) Answer not known
alenL Gsflwalerena

In comparative scale 10°C equivalent reading of F scale =
sbur@ygel dvGsele 10°C = unyerab

(A) 20°F (B) 30°F
(C) 40°F (D) 50°F

(E) Answer not known
enL Ggfwueidane
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115. The length of the Vernier scale will be equal to the length of either

parts of MSD.
Qautreflwi sjareyCameder Herp MSD er ————  u@dulean HarsdnE
FLOLOTS @)(HS@GLD.
A (n-1)or (n+1) B) (n-2) or (n+2)
(n-1) @ioag (n+1) (n-2) sioawg (n+2)
©) (m-1)or (n-2) D) (n+1) or (n+2)
(n-1) @oag (n-2) (n+1) @iowg (n+2)

(E) Answer not known
e Qsflwaicrena

116. Choose the formula using convert Fahrenheit to Celsius
umyeradl g dmhg — Qeddluers LIHmEsHE — LweTUHLD

Caiib0ls 0

@) C=F-32)x ®) C=@F-32) x>
9 5

) F= (ngj+32 D) F= (Cx§j+32

(E) Answer not known
alenL Gsflwalerena
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117. It 1s a plane figure of four sides, all sides are different and all the

118.

119.

four angles also differ.

@8l @ BIHSTLTEGLL, QST Bren@ LsSsSBISET WwHmID Bremd Csmeanthisear gnl

Coumiul’ Lena.

(A) Rhombus
FMU&H|TLD

(C) Rectangle
OseueusLDd

(E) Answer not known
alenL Gsflwaicrena

Name of Nine sides of Polygon is

QaTLg Lsshigamer CarearL uoCsramsdler Ol

(A) Nonagon

Qg rerGsmemTid

(C) Heptagon

er(pCamemnTid

(E) Answer not known
e Qsflwaicrena

(B) Rhomboid
Grmbumdi()

(D) Trapezium
4 Crilwid

NGNS
(B) Octagon

eTeiT S memTLD

(D) Decagon

LT G memrLd

Triangle has all the three sides unequal in lengths. All the three

angles are also unequal.

W&ECaTand  peTm  USSHESEHD  Fwwhn Barsamss Csmam@ererg. epem

Carenrmhis@pd FoWHmEna.

(A) Isosceles triangle
0Garhaden (Pp&ECHTERTD

(C) Acute angled triangle
G Carenr (psGamenTd

(E) Answer not known
enL Ggflwuaeieene
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(B) Scalene triangle
cvCaedlerm (LpdsGamenTLd

(D) Obtuse angled triangle

<L we Garenr (p&CHTewTLD
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120. In Quadrilaterals all the four sides are equal, but only the opposite
angles are equal.
Brhsrhsefled Bren@ LSSBISEHD FOLTE @ (HEHEGW. parmed erdlir Camanrmbiser

I HGWL FWOWLTE @ (HEGLD.

(A) Rhombus (B) Rhomboid
FMUIFETLD BewrL Gecucusid

(C) Trapezoid (D) Trapezium
gMeugs Gumed gMeusLd

(E) Answer not known
alenL Gsflwaicrena

121. What is the method of Tacheometry survey denoted by the following

diagram?
CLsdlCur@uwifs srCauule Spsar. uLb @Ghllug by (PaDeL
FMTHSHG ?
N
S
—

(A) Measurement of Horizontal Distance by subtence bar
glievLeren Limfler SlepL_ol L Iydang jemedl_e

(B) Measurement of Vertical distance by subtence bar
glievLeevy Lmflenm Qemb@gg SMsms feTellLed

(C) Tangential method
CLerrgamaslied (Asrhens) wpem

(D) Fixed Hair method
G&evh Canf (Hlenew @enLp) penm

(E) Answer not known
alenL Gsflwalerena
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122. Tacheometric formula for horizontal distance using inclined sights
through 6 is obtained by multiplying

123.

‘@ seteurs  smipbg UMWl LwaU(HESS HoLbll  grysdhsmer
CLa&dlCur@wl Mg @&sHrd earang Cums@Geugen eped CupriLh&ng) ?

(A) The constant by sin’ @
Lommed) sin” @
(B) The constant by cos? 6
omHled cos? 6
(C) The constant by cosé
wrHled cosl
(D) The multiplying constant by cos? 6 and Additive constant by
cosd
Qu(psse e cos? 6, sal Léd wmdledl cosé
(E) Answer not known
clenL Gsflwalerena
The subtense bar is used to measure ————— distance between
the instrument station.
glevLemey UM, smell BlavowsdnE QeaLCu o6 ——  FITSDS
Sjerell LweTUOSSLILGE DG
(A) Inclined (B) Horizontal
FTLIBHS (&L SenL_ol L
(C) Elevation (D) Inverted
2 WIyib SeELpmen
(E) Answer not known

allenL Gsflwalerena

61 387 — Surveyor
[Turn over



124. ———— rod 1is a staff which is longer than an ordinary levelling

staff.

—— oasEm550aTed ereng @ FrsTrewt Cleeuadln vl mrienu (UL
SarsanssCad) ol Berrar e SeréamasGame.

(A) Vertical
Qi 3sg)
(C) Horizontal

FHenL ol L

(E) Answer not known
e Qsflwalcrena

(B) Stadia

evGLguwim

(D) Inclined

STUlGU T6uT

125. Length of base line in secondary triangulation is given as
@rerLmbd flene p&Camanmorsgs ersansuilen oiqsGamiqer Barid

A) 1.5-5km
1.5 -5 4..8.

(C) 0.5-3km
0.5 -3 4..8.

(E) Answer not known
enL Ggfwueieane

(B) 0.5—10 km

0.5—-10 &..8.
(D) 5-15km
5—15 &l.i6.

126. What is the process of locating unknown points by the formation of

triangles?

PS5CaHTamhIGmET 2 (heuTd@euger epold Gsflung Letaflaamer geir(H g 1Lger

Cewewpenm eresmen ?

(A) Triangulation
e &G0 ag:6or

(C) Translocation
Lymesre @ emCaagen

(E) Answer not known
sllenL Gsflwalerena
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(B) Trilateration
LanyGal_ L Grager

(D) Differential positioning
g Lpeadlwied Glumélagentims



127. Length of base line in tertiary triangulation is given as
epatord Blevew (p&CaTamorss erdamsuiled, oigs&Gamiqer Herib
eTam QULPEISLILIHE DG

(A) 1.5-5km (B) 0.5—10 km
1.5—5 8.8 0.5—10 &..8

(C) 0.5-3km (D) 5—15km
0.5—3 8.8 5-15 8.8

(E) Answer not known
enL Ggflwuaeieene

128. Covering whole survey area with primary Triangulation, but filling
the gaps with secondary and tertiary triangulation involves in which

among the following processes?

W <Pl uGdHeowwbd, st WPECETETONES0D  ersamsudlenTe
o GreTLmSlwgl. <ypermd, @ueLmd  Blewe  bHMID  epermmd  Hleve
Wp&Casramonssd etsamsudarme @ delaflganer  Blylijeug 1Gereumd
Qewdpepseier eTens 2 eTarL&dHlwg ?

(A) Central system (B) Quaternary triangulation
LD HEDLDOLIL @aurL_L el jenoliL

(C) Grid iron system (D) Well conditioned system
Sl owmest siewliL Cleued HewTiqage(h HenLOLIL]

(E) Answer not known
clenL Gsflwalerena

129. How many sides are there in Hexagon?
SNBICHTETSHD (G TSHMEN LISSHMBIGET ?

A 5 B) 4
€ 6 (D) 7

(E) Answer not known
alenL Gsflwaicrena
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130. In triangulation survey, a structure erected over a station can be

determined as
Wp&Caramonssd  arsmsuiled, e Hlevwwsser Bg  dwdSILLL

sl Ll —— oran Siwnaflssemb.

(A) Signal (B) Tower
fsared (GMens) Leuim (Casmuyib)

(C) Instrumentation (D) Satellite station
&(medl Hlevewild QeupensGamer Hlepewld

(E) Answer not known
e Qsflwalcrena

131. In which of the following areas, the usage of primary Triangulation
1s done?
Yemeu@pd  eThsll  U@GSlsaidd  (pserepd  (WPECHTETILIES  aTdensudler
Lwerum(h 2_6Terg) ?

(A) measuring fields
TS ET feTel (HFed

(B) measuring built up lands
sULOul L Hlonigamer et (hse

(C) measuring earth figure
ludler 2 (peugang iemedl(hHed

(D) measuring unused lands
LweTUOSSILLTS Hleonisamer 2jarall(hse

(E) Answer not known
alenL Gsflwalcrena

387 — Surveyor 64



132. Which of the following features must be essentially incorporated in a
Tacheometer?
ewm CLsHCumSLLiT  Gereu@md  sULmwbTer — bFhseiled, ereubHam
2 GTeTL&HWgTs @(Hés Couam(Hib ?

(1) Multiplying constant should have nominal value 100
Qumssed e Gueurs 100 wdHiiurs @ méss CouamHib.

(1) The telescope should be truly analactic.
QzTeaneCHrss 2 arenule) SeTensnd s @QMmss Couem (b

(111) The axial horizontal line should be exactly midway between the
other two lines.
s deorwl L Carh wHp @Qrem®h Cosr@sEnsE @eruwld sflums
w55 Gouanr(Hib

(A) (1) only (B) (1) and (i11) only
(1) wr b (1) womd (111) v EHb
(C) (1) and (11) only (D) (), (1) and (i11) only
(1) wHod (A1) wLEHb (1), (11) womd (111) WL EHb

(E) Answer not known
enL Ggflwuaeidane

133. Which instrument is used in optical distance measurement method?
2 LI1q &6D Qgrenenal Sjeradl (b pemmuldléd THS 2 LISFemTLD

LweLhSsLLh S g ?

(A) Tacheometry (B) Dumpy level
CL&HCWrGwr_Mé L9 Qeveued

(C) Wye level (D) Modern level
U Ceeue oML Gleveueh

(E) Answer not known
allenL Gsflwalerena
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134. The method of Tacheometry commonly used is
CLsHCum@uwlfulléd Curgeurs LweTLHESILEID (P

(A) fixed stadia system

Hlepeowimer evGL g uim jenioLiL

(B) movable stadia system
S|FULLD GGL g WIT SepoLiL]

(C) tangential stadia system
CLeramemadgluied cvGLiquIm SjenLoliL
(D) transiting stadia system

G- TTeTE L Ig 6 GG g WM SjenLdLiL

(E) Answer not known
allenL Gsflwalerena

135. Methods of Tacheometry is/are
CLsCsmEwLl_fluler wpeanmser

(A) The stadia method only
evCLgwIT (Wpenm L (HILD

(B) The tangential method only
CLemaerasluicd wpepm WL (HiLb

(C) Stadia and tangential method
evGLigwim whmid CLenbgeradluicd wpepm

(D) Inclined method

FmeUmeT (Lpenm

(E) Answer not known
alenL Gsflwalcrena
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136.

137.

What 1s the distance of station from the instruments on fixed hair
method, if the line of sight is horizontal with multiplying and
additive constant is 100 and 0.5, respectively and S = 1.500?

Qupssed wHmb Carsms M wepCu 100 wHmd 0.5 whmb S = 1.500
< sa|b uriaeusCar@h Sal bl Liors @Qmé@h Curg, Hlaowrear @ aeamraur

(fixed hair) gpenpuler smal Hlevewgder siyb erere ?

(A) 15m (B) 15.5m
1.5 8 15.5 8

(C) 150.50 m (D) 150.00 m
150.50 8 150.00 8

(E) Answer not known
e Qsflwalcrena

In a Tacheometer, the focal length of object is 280 mm. The distance
from the object glass to the Trunnion axis is 120 mm. Then the
additive constant ‘k’is

CLsHCumSLir <enwinded Qumrmefler @elwggmp 280 mm <y @ib.
Cuoaud  ERlwer (sThI@GMmeneT) AFHFSEGHD CUTHERSEGD el Ul b

120 mm Gsiigens wrhe) K —————— o5 @Q(m&@E 0.
(A) 0.38 (B) 0.35
(C) 04 (D) 100

(E) Answer not known
alenL Gsflwalcrena
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138. Theodolite fitted with stadia hair is known as
avGLigwim @enpsEnL e (@ enearreuflu]Ler) &niguwl SCWT_amel L rerg|

(A) Transit vernier (B) Non-transit vernier
gl Qeurrerflwirr Non-t_gremed Qeurrefluir

(C) Triangulation (D) Tacheometer
Wp&Caramedlwe CLsHCumSir

(E) Answer not known
clenL Gsflwalcrena

139. What 1s the Tacheometric equation for distance while the line of
sight is horizontal and staff is held vertically?

LmTeneUs CarLrerg SeL ol L Iom&a] b, GUL_ITL] (< eTEHMSHEBHTED)
Cemi@gssraseyb o drer Cungl grrsdnasrear CL&HCUTCWLLMAE Fwerumh wrg ?

@) D:(i]+(f+d) ®) D=[§js+(f+d)

©) D:(€)+s(f+d) D) D:Gjﬁ(fxd)

(E) Answer not known
enL Ggflwuaeieene

140. For a Tacheometer equipped with anallatic lens, the additive and
multiplying constant are respectively

Saomgd CQeearey GQurmgsriul L CLsHCumbl L méE Coréems wmHed
wHmIb Qumsse wrhedl perpGu

(A) 100, 100 (B) 0,100

(C) 100, 0 (D) 0,0

(E) Answer not known
e Qsflwaicrena
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141.

142.

The angle of dip at a point on equator is
LosSwu Crenguile gl o drer gmiiefler CoHment i6me| erevmen ?

@ o° (B) 45°
(C) 30° (D) 90°

(E) Answer not known
alenL Gsflwalerena

The plane table is always placed in every station which is parallel to
the position occupied at the first station which is called as
euleum, HleneowsSlaid Foger Lwad erliCungib eeussliumb, @§ (PSH6
Blevaowssed ysHTssILLIL QL SHDHE @emaTuTs @HSESD erearug)
(A) Principle of telescopic alidade
QzmaneCrrédl ellGLL uler 556D
(B) Principle of compass
Sengar_iguiler s5gi6llb
(C) Principle of plane table
FLOGET LIVEG $55I6ILD
(D) Principle of chain
gmdledl sS5g1ab

(E) Answer not known
cenL Ggfwuaeieeane
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143. Which of the instrument 1is NOT used in plane table surveying?

FLDG 6T TSNS #TGauuled Ep&H e THS 2 LISFewTLD
LwerU(HgsLIL (Heudldeane ?
(A) Alidade (B) Plane table
SCLL FLOSETLICOENS
(C) Tripod (D) Levelling staff
(PSS T UL SjerdHamnds CsHme

(E) Answer not known
allenL Gsflwalerena

144. A graphical device to convert one variable into another is called as
@@ wrdlepw WHGDTE wrHlwurs LIPDEUSHEGL LwWeaTUBL Smmedl @eieurm

SDPEELILHS DS 2

(A) Plain scales (B) Diagonal scales
Lienemenr 6v(Gaed Lwgseare 6vG&Hea

(C) Comparative scale (D) Vernier scale
sCUGTL el vGaHe Ceufeflum cvGaed

(E) Answer not known
alenL Gsflwalcrena

145. If an actual length of an electrical switch board of length 30 mm, is
represented by a 30 mm length on drawing. What is the

Representative fraction?

30 W5 o amepowiner Herd 2l w @ sl fasd evall s Cumilh <y earg
UL SHQID G jareiledry 30 .5 Berpen WFTe: U WL LT ST
QrureaGLigeu Slirmdasen (97l Gemerd) erere ?

A 1:4 (B) 1:3
< 1:1 D) 1:2

(E) Answer not known
e Qsflwalcrena
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146. It is a curved ruler used for drawing irregular curves that are

147.

neither circles nor circular arcs, 1s known as

QULLBISETTSE D  @eemne eIl L. 6lidsamsabd @eemned  e(phISHD
cUETESHETTS @ (BLILIGIMEdD eUTeUSH@GL LWeTUBHLD 6  GUEETE T6T
aueyCaETed @eiaimn AepssliLOEDG ?

(A) Fastener (B) Protractor
191q LILITETS T LITen&Lomey]

(C) French curves (D) Stencils
&ILI@II@E'F HITGUGL 6Ol L_erdled

(E) Answer not known
enL Ggfwuaeieeane

It i1s a thin line projecting from the feature and extending beyond

the dimension line is called as

> meusdled @ mHg QeuaflCuw Bri il gms@h @ Quadadlu Csrh whHmibd
g Lwleragern Camienl s smeawrg BHLL UL IgHE@G0. e @eleumm)

SDP&SLILI[HE MG ?

(A) Dimension line (B) Leader line
LwOweragesr Gamp LT Gam(h

(C) Extension line (D) Termination line
er&evlLcrager Gam(h wigemib Car

(E) Answer not known
slenL Gsflwalerena
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148. A solid having eight equilateral triangular faces is called as
Tl(h FLUES WP&Caman WsLLsmeT 2l 6@ S bummer @e6ueumn)
SDPEELILHS DS 2

(A) Octahedron
&L TQan L yrer (=) eremupsid
(B) Hexahedron
QangevrQanL Frer (<) mpsLiy o (m
(C) Tetrahedron
Qi grQanc gmer () BrerLL L &b
(D) Cylinder
> (HEnaT

(E) Answer not known
enL Ggflwueieene

149. If an actual length of a typical terminal strip of 10 mm 1is
represented by 50 mm length on drawing, what 1is the

Representative fraction?
@ aupssorer QLmdleard evlfAuder o arewwrer Berd <parg 10 W.LS
<parg eyl gHd 50 .5 Beroras @MlssliulLmed. Siger GArdl eerd

@A) 1:5 B) 2:5
€ 5:1 (D) 5:2

(E) Answer not known
alenL Gsflwalerena
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150. The manner of arrangement of doors and windows in the external

151.

walls of the building to draw maximum effect from sun and wind is
termed as

sllgl Lp&seunseed, @Ghlwer whmib srHdler Sl s vwersamer GLmILD
UMSLID DdWDEGD alfleuamELTaTg @)eUalTm HaWPssLILIHS NG

(A) Prospect (B) Aspect
QUETEUMUILIL] (eTlTHTE LIeveoT) gamur® (CasrHmibd/bleane)
(C) Grouping (D) Roominess
QsTEESD (@ emLLmn) Lphs Hlena (Gumgiorer jerey)

(E) Answer not known
clenL Gsflwalcrena

Match the following drawing board sizes (in mm) as per BIS
standards :

@Qpdwug s765 sLQUuT( Hneuar areiller L., SPSSE@TL eUaTLIL LI LIS
SleTe|FHmeTLl ClLM(HSS)s.

(a) BO 1. 500 x 350 x 15
(b) Bl 2. 700 x 500 x 15
) B2 3. 1000 x 700 x 25
(d) B3 4. 1500 x 1000 x 25

@ b @© @
A 1 2 3 4
B) 4 3 2 1
) 4 3 1 2
D) 1 2 4 3
(E) Answer not known

clenL Gsflwalcrena
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152. The plan of the buildings and elevations and sections 1is

recommended (as per NBC) to a scale of
sl gL msefler seopluLd, sl GCsmhopbd woOmbd Gm&éEE Csrhmriser
EPGHAMTL oThS @(F aTeyd S LSO (eramdél Lig) ufpgerssiiLibhdng ?

(A 1:10 (B) 1:100
(C) 1:500 (D) 1:1000

(E) Answer not known
e Qsflwalcrena

153. Which among the following is NOT the important aim of building
drainage?
EPSEHT_uDMIET 6Tl SLiqL auigETD Sawlidhsrar CEr&sd ojee ?
(A) To dispose off liquid waste as early as possible
Sreus sflesmer (pighs ere] allenreuns GeuetGuihmise
(B) To dispose off the storm water into open surface drain
Spps sy aigsTIsE wopbor deaelCubpesHE
(C) To prevent entry of foul gases from the sewer to the building

sfle] Bis  @TiamBs  sligl 8@ SITBETODLIET  eUTWSSET
piopaims sHUUSHE

(D) To supply required water from tank to the building
Qamiquiedl(Bmpgl sl SHH@E Caameuwimar Fiflenar cupmisad

(E) Answer not known
alenL Gsflwalerena

387 — Surveyor 74



154. The system by which used and contaminated water is removed by
means of drains, 1s called as

QU1q &TED eLpELD uu_leiiru@\g,g,uul'_l_ SV &&ggmnm g,etfmvﬁr’r
QeuaflGuHDLILIHID (evp @eieuTm SP&ESLILIHS DS
(A) Storm water (B) Air gap
LjWed Sarentim sTHn G e Geuafl
(C) Intakes (D) Drainage
@ erCLS@&s6r QUg&HTE Sl LD

(E) Answer not known
alenL Gsflwaicrena

155. A type of sewer section is used for the construction of large sewers
with heavy discharges such as outfall or trunk sewers and its height

1s more than width. It is called as

P s eallgsTd ssager (Heul (Hpsbd) Guilwereleomear &6 sEhsE
Quepwere) GeualCupnsHDE DsTougl eyl Sumd (sfle) B Gsmeuld)
SODF 14T algETOSE (CUBRSHSESTOSET) sl Hwrarssh@ LwearuBE DG
Cogib  @ser 2wib ss5ms AL Hsorarg. Qe  ereueumm
SMLP&ESLIL[H ST e ?

(A) Egg-shaped sewer
(PL®L 6allgal 6llg&Ted

(B) Box sewer
QUL g Gllg&Ted

(C) Horse shoe sewer
GHy af (G6TDL) GUige CUIGHTE

(D) Parabolic sewer
urprGumredld (LFeueeTW) GuUig&HTEd

(E) Answer not known
e Qsflwaicrena
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156. 1s the organic matter deposited at the bottom of the
sedimentation tank during the treatment of the sewage.
sPleypt  &sdafiinder Curg ugeyds Csmiguler ojquiled LighHHSESD

< rarais (SMwl) Gummarser
(A) Sewage

FTHEHM L

(C) Coagulant

(B) Sludge

sPlefis ss@b)/Com
(D) Leachate

Sevrid S THETOI ST
(E) Answer not known
alenL Gsflwaicrena
157. 1s the sewer that carries domestic sewage, industrial

sewage and storm water.

sPlefrs@prurarg il hé sle) B, Asmipsree sdlabr

LHHID WWSSTO sleybar rhsgiF Cadaib.

(A) Storm sewer
e sfleybirs @
(C) Sanitary sewer
&STSTT SLPeBTE @Gl

(E) Answer not known
alenL Gsflwalcrena

(B) Combined sewer

gl (D& sle|fis @Lpmul
(D) House sewer

AL slebis @G

158. What is the scale factor for a scale of 1/4 inch = 1 foot?
1/4 om@ewb = 1 <jg eram Sjarelhsrear ereil (Hé smyenll erere ?

(A) 48
(C) 32

(E) Answer not known
alenL Gsflwalerena
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159. Which among the following is NOT the important consideration for
plotting in CAD?

SpssaLeupmer argl CAD-60 <i58Qs@és@ Cosmeuwnar WsHw  &msd
{60t ?

160.

(A)

(B)

(©)

D)

()

Selecting a scale for drawings
QU TLIL IS @H&EETET (T aTes S L sns CaThhsHEse0

Composing a drawing layout
Q(H UENTLL. MWLM 2 (HeUT&H@EGHS60

Selecting text and dimension heights
(S LOHMID SjeTe| 2 wrkigEamer Csirhols[H S50

Creating an array of objects
QumpL_seafer Saflsmer (array) o (peuns@se

Answer not known
alenL Gsflwalerena

‘PLOT’ command in CAD
CAD & ‘PLOT s L eerwimeng

(A)

(B)

(©)

D)

()

Creates a plot layout

wever Sl L epwlien Carhmieilssng

Controls the page layout

L&& Dene|smer sL-(HLILHSSIE DG

Displays the drawing as it will be plotted
SFSLupeug Gume, euamruLgang Heavguller sr(HEng

Prints a drawing to a printer
SFFLCUTHUded @ auadrULSms ESF DD

Answer not known
alenL Gsflwalerena
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161. A CAD drawing i1s a file that consists of numeric data

om CAD aemyuLworearg @m el nd CaléssiiuLs smigw

that will be saved into a disk.

in

2 GTem GTaramT Hrejseerd Gamar e CaHmiL Y @ELb.

(A) Decimal form
LleTd Gllgeubdled

(C) Binary form
euarfl eulgeaisdled

(E) Answer not known
alenL Gsflwalerena

162. What is the use of function key F3?

F3 Qewerur’ @ Suler uweruim() erereor?

(A) TABLET
(C) ISOPLANE

(E) Answer not known
enL Ggflwueidane

(B) Word form
UTTEEMS GulgaUHE 6D

(D) Matrix form
St allgeugdled

(B) OSNAP
(D) SAVE AS

163. Which of the following file extensions cannot open AutoCAD?
Qetreumd Cariiy Brigliyseile erg <t CLm Caenr Hmds wpigwimg) ?

(A)  dot
(C) dxf

(E) Answer not known
enL Ggfwueidane
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164. Which of the following software is limited for Auto CAD installation?
Gemeumd Gertlummeties <1 CLrCsL BHimeuaisd@, 68 cuaTUMSSILLL gl ?

(A) Windows DOS (B) Windows 98
NerGLmev Lmev MerCLmeivy 98
(C) Windows 03 (D) Windows 10
MerCLmev 03 MerGLmev 10

(E) Answer not known
alenL Gsflwalerena

165. Scaling helps objects make them

sereyorhod  (scaling)  eped  Qur@pLsemer DG 2 (HEUTES

2 56 Hlngl.

(A) Bigger (B) Smaller
Quilwgrs APlwugns

(C) Constant size (D) Both (A) and (B)
Bleveowirar ojemey (A) womib (B)

(E) Answer not known
e Qsflwalcrena

166. The shortcut command for a rectangle
Qecucussslen @Gm&EGe &L L neT cTeme ?

(A) REC (B) R
(C) RE (D) RET

(E) Answer not known
enL Ggflwueidane
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167. Ctrl + N key strokes function is
Ctrl + N & ev Gyréadlen Qawed Crrésid eree ?

(A) Number command (B) New command
orar &GlLetrL Bluy, &6l

(C) Numeric command (D) Both (A) and (B)
BlupoMé sQ ey (A) wpmid (B)

(E) Answer not known
alenL Gsflwalerena

168. What you cannot create from the command offset?
Offset s L avarued(phg Srser o (heurés (PG WTSS 6Tgl 2

(A) Concentric circles (B) Vertical straight
DU GUL_L_HIGET Crir Qami@sgl

(C) Three parallel lines (D) Parallel arcs
eperm @enent Cam(higer LG CLEMCTEHET

(E) Answer not known
e Qsflwalcrena
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169. Which of the following are correct matches?
Epsaem_eupmier flumear QUTHSShISET cTaneu ?

170.

(1) Ctrl+B
Ctrl + B
(2) Ctrl+L
Ctrl + L
3) Ctrl+T
Ctrl +T
4) Ctrl+G
Ctrl + G

A) (2,3, 4)
© @, @), ¥

Snap on/off

GLGTITL <601 LOHMILD DYool

Ortho on/off

9 TCHT p6m HMID ool

Tracking on/off

G- TT&HE B 6T HMILD ool

Grid on/off

ML o6 HMID ool

(E) Answer not known
enL Ggflwueideane

In AutoCAD, “Ortho” command is used to draw
< CLmGaige, “ortho” &L eeruler apeld

LwerL (H&Emg.

(A) Inclined
Qemi@Ggsmean

(C) Polyline
LImedl e ev et

(E) Answer not known
e Qsflwaicrena

81

B) (1), (2), (3)
D) @), 3), (4

(B) Perpendicular

FITU U TGuT

(D) (A) and (C)
(A) wpmid (C)

lines.

afladr  eueywL

387 — Surveyor
[Turn over



171. Which command is used for move and rotate dimension text?
saraihsaflenr CLgGevl samer BETSHUSHGD FPOMUSHGLD 6ThS SHL_Laner

LweTU(HSSULBE DG ?
(A) DDEDIT (B) DIMTEDIT
(C) QDIM (D) DIM

(E) Answer not known
e Qsflwalcrena

172. Mid point snap means
BB eTar GueTLl eTeLig)
(A) Mid point of a line (or) Arc
@ Carh Seveg euemerailer epowliLeTarfl
(B) Mid point of block
QamEd ewwLiLerer]
(C) Mid point of weight
BHLemartl eranL
(D) Mid point of tolerances
Qummdudier B Lerert]

(E) Answer not known
enL GgMwuaeicane

173. Which command is used for modifying dimensions?
Sjarai(His@ar rH 6hg SL_Laer LwerUHEsLLOEDG 2

(A) DDEDIT (B) DIMTEDIT
(C) QDIM (D) DIM

(E) Answer not known
enL Ggflwuaeieene
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174. Which is not a dimension edit commands?
@ e ergl Seteihisamer H(HSFID SLLMeTenW ST ?

175.

(A) Override
Culapsd

(C) Oblique
FMbS

(E) Answer not known
e Qsflwalcrena

Which of the following
commands?

(B) New text
HSlw o anry

(D) Spline

6V L1 6n 6L 60T

matches are correct regarding function of

Epsaam  QuTpssnsErd  slLeaeasalear  Qeudurhsedr  @dssmer

sflurerenel eTeney ?

(1) DIMTEDIT -
DIMTEDIT

(2) QDIM —
QDIM

(3) MTEXT —
MTEXT

(A) (1) only
(1) @b

(C) (3) only
(3) wL_@®b

(E) Answer not known
alenL Gsflwalcrena

Moves and rotates dimension text
B&Tey WHMID &poHm uflbrewr 2 ey
Modifying dimensions
SleTei(HSeaT LTHMISHED

Editing text

2 of ElBS5I5D

(B) (2) only
(2) wr_@Hib

(D) (2) and (3)
(2) wpmiod (3)
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176. Match the following CAD commands with its use.

pssar. CAD sl Leaergmer oigar LweTLm (HLer QUThSss.

(a) EXTEND 1. Extends the dimensions of a 2D object
EXTEND @@ @auflarmoy  Qurmeller  jerejsamern
Bl s pg)
(b) EXTRUDE 2. Extends objects to meet the edges of
other objects
EXTRUDE 9y CQurmlseaiear  eleflbysamer  Qsm
QumrpLsemear HLiqsdng)
(co HATCH 3. Fills an enclosed area with a pattern
HATCH @@ apgw  ugtQeer @ umeniluded
Hruyds)
(d) FILLET 4. Rounds the edges of objects
FILLET QurpLseflen elefbysmen auamerelré@GSHng)

@ (Hm (© (@
A1 2 3 4
(B) 2 1 3 4
(C) 2 1 4 3
M4 3 2 1

(E) Answer not known
clenL Qsflwaldene

177. Which command is used for creating multiple copies of objects in a

pattern?

@ UTeniludled L BEH&eTTs CLMHLEMET 2 (HheuTss 2 S| &L L 6T 6Tgl ?
(A) ALIGN (B) ATTDEF

(C) ARRAY (D) MIRROR

(E) Answer not known
alenL Gsflwalerena
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178. Which command is used for extending objects to meet the edges of
other objects?
Gy Qummlsefler elaflblamar Qsrheusn@ CumEBLsamer Bl igss 2 Hab

GLL AT 6Tl ?
(A) LENGTHEN (B) EXTEND
(C) STRETCH (D) TRIM

(E) Answer not known
e Qsflwalcrena

179. Which command is used for moving objects a specified distance in a
specified direction?
@m GO Hesuild m @GOGl gmb QUTHLEMET BSTSH6USN S,
LweTU (D SLL_6HeT 6Tg) ?
(A) MLINE (B) HATCH
(C) MOVE (D) GROUP

(E) Answer not known
alenL Gsflwalcrena

180. What is the system to locate a point by its distance and angle of the
co-ordinate system?
QU Sewliler OQgmamee] wHmDd Csmarrd ePOWLTS 6  LeTertlullaner
SewlugnH@ 2 Ml el erg)?

(A) Cartesian co-ordinate (B) Polar co-ordinate
ST le Hlwer <y,wilb CumeomT <y

(C) Relative co-ordinate (D) Absolute co-ordinate
Fmmawe < puwib FmTYenm <pwib

(E) Answer not known
e Qsflwalcrena
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181. The instrument used for setting up north orientation in plane table
survey is
Fger Laams sl aul&@ Savgwamne| Sennsds LweTLHib &medl

(A) Magnetic compass
STHE Hanssm g
(B) Trough compass

L Jooll Sleng&TL iy (IqFooll SMDLIGD)
(C) Sprit level
JEWOL_L LD (a9l Gleveued)

(D) Alidade
G

(E) Answer not known
clenL Gsflwalerena

182. The large size of plane table is
gger Cuoansuler (19Garemr GLGafler) GuMw =jere eremer ?

(A) 750 mm x 600 mm X 15 mm (B) 700 mm x 600 mm X 15 mm
(C) 710 mm x610 mm x 15 mm (D) 720 mm X 610 mm X 15 mm

(E) Answer not known
alenL Gsflwalerena
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183.

184.

The first temporary adjustment to be done after setting up the plane
table at any station will be

Foger Lmsmll ohs vCLagallgib sy Wn@E Celwultiu@bn  psHed
shaEredls Fifl Qguige ereme ?

(A) Sighting (B) Levelling
LITTeney &6 (h &85 6D

(C) Centering (D) Orientation
eLWLILHSSHISED Crré@blene

(E) Answer not known
alenL Gsflwaicrena

consists of a small metal tube which contains a small
bubble at centre.

e fflu 2 Corss Grmow CAummssiiul(, @gsear ewwsded Adu Bis
GWlIflenws CamarmhudmLriLig eremer ?

(A) Alidade (B) Sprit level

NG vl 9L Qeveued (F&WL L LD)
(C) Plumbing fork (D) Telescopic

Qerbn SHCummé QzmaneCrrss

(E) Answer not known
e Qsflwalcrena

87 387 — Surveyor
[Turn over



185. In plane tabling the instrument used to measure horizontal and

vertical distances directly is known as
9Cererr G960 #mCouudmidled Hlepol L wHmid Cebi@&ss smsas Coriguns

Sjetell LweTUhb &mell ————— erar SMuiLEDg).

(A) Plane alidade (B) Telescopic alidade
Fgem e0lGL L QzTaneCrrédl =elGLL

(C) Tacheometer (D) Clinometer
CLCasmBL_Lir HafCarmiSi_ir

(E) Answer not known
e Qsflwalcrena

186. Match the following methods of plane table surveying
EpasarL 19Cerer CLLjer FrGeuuilen cuamssamer QUM(HSGIS

(a) Radiation 1. Only one station
CrgCwiager @Cr e evGLaer
(b) Inter section 2. More than station
@ el F&ag e Sflsliguner evGLger
(c) Traversing 3. Two station
Lq- TG T @ e evCLser

4. 'Three station
eperm eGLFerr

@ () (o
A1 3 2
)2 3 4
© 4 2 1
M3 4 2

(E) Answer not known
clenL Gsflwalcrena
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187. Detailed plotting is generally done by

elfleurer cuenrse Gumgeins
(A) Radiation
Crig Cuiagesr

(C) Resection
MOl e é&ae

(E) Answer not known
alenL Gsflwalerena

e epod HFLuiu@Eng.

(B) Traversing
Lq-7 TG T

(D) Intersection
@ e rGlengaer

188. The Intersection method is mainly used for

GTTBI(S Geul_(Hibd
LweTU(HSSULUBE DG ?

Cal

(A) Dam construction
D6t &L (HLDTETLD

(C) Road

FITEH 6L

(E) Answer not known
alenL Gsflwalerena

(@ e TGlen&aer

WSSuTsL]

peD)

(B) Mapping details

UL Sl6eUhIGET

(D) Building

&L gL LD

189. Plane Table, traverse involves the same principle as a

FOGET  NCTEMS
D GTETL & Wg).

LIoven S,

(A) Non Transit Traverse
IBIT60T Iq TmemedlL Iq [FTeu e

(C) Sighting Traverse

umrenel &L_bgl

(E) Answer not known
e Qsflwaicrena

89

qrrauielles — &Gy

QETeTENSHEn W

(B) Transit Traverse
G- TTesTadlL g FTeuTe

(D) Non Sighting Traverse

umrepeuumm Lmeng
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190. Abney level used to measure
Sjlial serenel (2iGar L eradl) eped eTeng eraill LwerUhEmg) ?

(A) Horizontal angles
Sen_oL L Camenrmiigser
(B) Inclined steep angles
gmlibg Oem@gsmear Carenmbiser
(C) Vertical angles
Qem@sg CorenTmhiger
(D) Negative angles

ardlienm CamewTmniser

(E) Answer not known
allenL Gsflwalerena

191. A clinometer is used for
@ HeflCarmSiLi ergpars vwearLbhssLLOEDE) ?

(A) Measuring angle of slope
grliciler GCamanrgans emedl(Hge

(B) Correcting line of collimation
umienet LI LE GCamlenL Fhlguige

(C) Setting out right angles
sflurer Com@sg CaTamhisamer ambESHng)

(D) Defining natural features
QubHas LDFRIGEMET U TLNIGH DG

(E) Answer not known
alenL Gsflwalcrena
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192. Which among the following is NOT a advantage of the plane table

193.

surveying?

EPSEEATLUDDIET 6TF H6T eTHEMSLILIOMNS Dardansuiluadler e BHerenio

DL ?

(A) Itisusedin magnetic areas also
@ s1HE ellensll L@GSlsatiaid LiwieT(hHSSemb

(B) All the plotting work including contouring is done in the field
ger Uy (srar@iln) oL emarsg eumyul CeuamesEhid
sa5HCaoCu Gewiu@dHng

(C) The accuracy of the plot can be ascertained as the work
progresses in the field
sarsHCaCu  uafl  Gsrifeugmd, eueruLsSer gGodlwgsereno
e pELUESEL Pyéng

(D) It is suitable for work in wet climate and high wind
@s mrorer srofleesaiad wHmD AHE STHOIETET @)L isetiD
Couaned Glewidl Qummsswrerg

(E) Answer not known

alenL Gsflwalcrena

The blue printing process is the simplest one of reproduction of
drawings, drawn by

Leer WMeapriqi  Qsupenn eueyuULSangd —— epeod wm swmfliiy
Ceweudler @g WBasa|b eraflepwwner wWepwm@Lb.

(A)

(©)

()

Folding (B) Tracing
LDlq UL 4 Crélm
Colouring (D) Inking
Geviflm AL

Answer not known
enL Ggflwuaeieene
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194. 1s also similar to the blue printing method.
Qg Len Afar wpeap CureTng e

(A) Ammonia process (B) Sulfur process
SbGwreflum Qeuiepenm goum GQewipenm

(C) Chloride process (D) EDTA process
&Carmeny(® CQelipenm EDTA Qsuigperm

(E) Answer not known
enL GgMweidane

195. The instrument which i1s used in plane tabling for obtaining
horizontal and vertical distances directly without resorting to
chaining is known as
shdldleows  mrimod  Curguwns el wHmb  CDFmEGSE  SITEDS
Crrgwrs QuUDeUSDHE FLSET eTsamds Loasuled LwerhSsIuUmD smedl

eTa DHMLPSSILHEDF).

(A) Plans alidade (B) Telescopic alidade
Fogem 0lGLL QzTaneCrrés elGLL
(C) Clinometer (D) Tacheometer
S CarmSr i CLGasmbL i

(E) Answer not known
allenL Gsflwalerena
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196. Which of the below is not a method of doing resection?
&G 2 drateupdled erg INSQsH&@D ap (NOssage) side 2
(A) Back sighting
et LIMTeney
(B) Solving two point problem
@rarr®h yetafl wpevpulled g
(C) Solving three point problem
eperm Latafl penpudled Sriiuig
(D) Solving four point problem
6T, Ljeatl (peppulled SriiLig,

(E) Answer not known
enL Ggflwuaeidane

197. It is necessary to go to one of the plotted stations in the method of
resection by
Ms0sHE@ED wepuild Sl flevowunsefler eethlhE@ ereubmler
epeuld GlFer Geuamig g Sjeudlud

(A) A back ray
e sdliser (Cug Crev)
(B) Trough compass
Qsmlly HvFssmly (lgosFLI STDLGED)
(C) Three point method
epenml Ldrafl apenm
(D) Two point method
Quan® yarall wpenp
(E) Answer not known
e Qsflwalcrena
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198. The other name for Bessel’s method 1s called as
Qugeev pevpufler wHGDMEH GLwiT

(A) Mechanical method (B) Trial and error method
QuiBSy (e Cargener HMID Yanp (peom
(C) Graphical method (D) Traverse method
QLY 78 68) 6V (Wpenm LiuwieoT (Lpem D

(E) Answer not known
e Qsflwalcrena

199. In the plane table surveying, Bessel’s Graphical Method is adopted
for the solution of
LCererr  GLbar  #rGeuudled, GQugey euamrsme Wpep SpsserLemdler
Sireys@ LweruSSLILOEDG.

(A) Two point problem (B) Three point problem
Qe ydrefl samsdhH pevm eparm Latefl samddH (pem
(C) Traversing problem (D) Graphic triangulation
G rTeudlh sersSH (penD ol fé(cuenysme) (p&CaTeanTid

(E) Answer not known
enL Ggflwueideane
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200. Which of the following Statements are True about errors of
manipulation and sighting in plane table surveying?
SET DAATEMS LIWE AHaTHEmSUNLID aaswm@Epgd Wwhmibd sramedld b
Gevpaer GhssTar Spssam . sampnisaier sflurareae erene ?

L.

I1.

(A)

(©)

(E)

Inaccurate sighting or bisection causes error in plotting
godlwdlerens sremed LHMID @HFDLE Fadlld euamyseild Yanpenul
THUOSSIE DS

If the alidade is not pivoted properly on point, the rays drawn
will be in error.

ewm yerafluder Guwe ellCLLrerg sfluns  swalwssE ewwnrs
S@LESIULTNLLT®, eueruiulL. ey &dlfser  Yeppuns
S{ELOW]LD.

I only (B) II only

I o @b IT wr @

I and II (D) Both are incorrect

I womin IT @rearEib FRwrer ghmee

Answer not known
e Qsflwalcrena
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